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First question { 10 _marks)

A) Mention the National Parks, then explain only one of them in full details
B) What re the three levels of biodiversity

Second question ( 40 marks)

A- Write on the following points: (10 marks, 5 marks for each one)
1- Five characteristics of Phylum Cnidaria.
2 - Diversity (Classification) of Phylum Porifera with examples.
B- Make fully labeled drawings of: (10 marks, 5§ marks for each one)
1-Structure of a choanocyte ( collar cell ) .
2- Structure of Polyp and medusa forms.
C-Fill in the blank : (10 marks, 2 marks for each one).

1- Types of Water canal system of Sponges are:

2- Killer cnidarians to humans include .
3- Two main types of cells are found in the mesoglea of Sponges namely

4- Phylum Cnidaria has two body layers namely

5- Sponge larvae are

D- Multiple choices (MCQ) : Choose the correct answer. (10 marks, 2 marks for
each one).
1- Reversal of cell layers, a phenomenon found in:

( ) a. Cnidaria b. Porifera ¢. Annelida d. Nematoda

2- Which of the following is an Egyptian example of

Scyphozoa?
( ) a. Hydra sp. b. Obelia sp. c. Aurelia aurita d. Anemonia sulcata

3- By which method do sponges reproduce asexually?
( ) a.ova b.sperm c. gemmules d.larvae




4- Which of the following is the correct type of symmetry in
Phylum Cnidaria? ‘

( ) a.radial b. bilateral c. asymmetrical d.spherical
5- Which of the following is Not a character of Phylum
Porifera?

( ) a.ostia b.spongocoel c.oscula d. nephridia

Third question ( 50 _marks)
ANSWER THE FOLLOWING QUESTIONS:
I. Only by a diagram, illustrate the excretory system of flatworms. (15 Marks)

Il. Briefly define how the following word pairs are similar and how they are
different. (15 Marks, 3 Each)

a) Conjugation and autogamy of Protozoa

b) Naegleria sp. and Acanthamoeba sp.

c) Nematode and platyhelminthes musculature.

d) Amphids and phasmids of nematodes.

e) Opisthaptor of monogeneans and a ventral adhesive disk of
Aspidogastrea

lll. Write the name of an appropriate species (10 Marks, 1 Each)

1) Has mature oocyst contains two sporocysts each containing four sporozoites.

2) Parasitic and has micro and macronucleus.

3) Has numerous flagella in oblique rows cover entire body surface and
numerous one type of nuclei

4) Adults have scolex provided with only four powerful suckers

5) Adults inhabit the bile ducts of sheep, goat, cattle and Man

6) Adults parasitize salmon fish and attach to the fish by a large haptor which
has sixteen sharp hooks located around its margin

7) Adults have light-sensitive eyespots, gastrovascular cavity with a protractible
pharynx and centralized nerve nets

8) Has locomotive protoplasmic flow without discrete pseudopodia.

9) Cause elongation and irregular or fimbriation to the infected Cells

10) The mature adult is pear shape and has three suckers: oral sucker; ventral
sucker and genital

IV. Chose the correct answer and rewrite it in your paper (10 Marks, 1 Each)

1. The protistan that is able to combine autotrophic and heterotrophic

nutritional modes is.........ccovmenene.
a) Euglena sp.
b) Plasmodium sp.
c) Amoeba sp.
d) Giardia sp.
2. The pellicle is a structure whichis......................
a) Sensitive to light
b) Used for locomotion
c) Used to store food
d) Used to digest food particles



3. The attachment organ located at the anterior end of a monogenetic
trematode (class Monogenea) is termed a (an).........covevuveeirirennen
a) Opisthaptor
b) Acetabulum
c¢) Prohaptor
d) Rostellum
4. Cotylocidium, onchomiracidia, miracidium and cercaria are..............
a) Part of the trematode life-cycle
b) Part of the cestode life-cycle
c) Part of nematode life-cycle
d) None of the above
5. Under difficult environmental conditions, protozoa transform into a

protective body known as a........c.ccccccevrrecnnisrnnenns
a) Endospore
b) Cyst
c) Pellicle
d) Fruiting body
6. The phylum consists of bilaterally symmetrical animals with an
incomplete digestive tract and includes the tapeworms is..................
a) Trematoda
b) Platyhelminthes
c) Cestoda
d) Nematoda
7. The structure Which is not part of the female trematode reproductive
system is.......
a} Oviduct
b) Vitellaria
c) Uterus
d) Seminal vesicle
8. Eggs of.....cooiueeen. are flattened on one side
a) Schistosoma haematobium
b) Enterobius vermicularis
c) Taenia saginata
d) Ancylostoma duodenale
9. The type of skeleton characteristic of phylum Nematoda

a) Hydrostatic endoskeleton
b) Exoskeleton
c) Cartilage
d) Elastic skeleton
10. The unique organelle found within some protozoa but not in higher

animal cells is...............
a) Mitochondrion
b) Golgi apparatus
c) Contractile vacuole
d) Endoplasmic reticulum



Fourth question (20 _marks)

Give the scientific term of the following
1- Body has numerous chaeta

2- Ability the prawn to break one its appendages
3- A group of animal in which the blastula opening gives anus first in the adult
4- A Phenomenon in which the female can reproduce without fertilization and

produce young in favorable condition

Fifth question (10 marks)

Mention three of economic importance of Plum Mollusca and phylum

Annelida.

Sixth question (20 marks)

Complete the sentences from Group (A) with the suitable words from Group (B).

Group (A) Group (B)

1- The ventral solid nerve cord a- is reduced to the coccyx in

humans.
2- Mammals which lay eggs is called b- Ascidia
3- Fertilization is internal in the c- sharp horny teeth
4- The example of tunicates is d- Eutheria
5- The exoskeleton of chondrichthyes is e- Is not a character of chordates
6- The post-anal tail f- Urochordata and Cephalochordata
7- Protochordata include g- sharks B
8- In tetrapods the pharyngeal gill slits h- Is used in feeding mechanism
9- The elephant belong to subclass i- placoid scales
10- The suctorial buccal funnel of j- prototheria ( monotremes ) ]

petromyzon is lined by
k-

Give rise to the eustachian tube

Best Wishes & Good Luck

Examiners |1- Prof. Dr. Mohamed Mona

2- Prof. Dr. Fayez A. Shoukr

3- Prof. Dr. Ibrahim Bakr Helal

4- Prof. Dr.Dalia F.Afifi
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First question (Total mark 30)

Answer the following questions:

Define the latitudinal gradients.

Explain the effect of overpopulation on biodiversity.
Define the biological diversity.

Mention the kinds of ecosystems.

Mention the general characters of Echinodermata.

S B L3NG e

Second question (Total mark 20)

Answer the following questions:
1) Using full labeled diagram, compare between polyp and medusa. (10 marks)

2) Chose the correct answer and comment : (10 marks)
1. Segmented worms have .............
a. A closed circulatory system. c. Asymmetry
b. An open circulatory system. d. Radial symmetry
2. Which of these is NOT a characteristic of arthropods?
a. A endoskeleton c. Segmented body parts
b. Pairs of appendages d. Bilateral symmetry
3. Which of these animals are polychaetes?
a. Nematodes c. Sand worms
b. Earth worms d. Leeches

4. Which of these terms is NOT related to Porifera
a. Choenocytes c. Calcareous spicules
b. Trochophore larva  d. Ostium

5. Which statement is NOT true?

a. Arthropods have open circulatory system. c. Arthropods have dorsal nerve cord.
b. Protruded pharynx found only in Polychaeta. d. Demospongia have sponging fibers.
hl\d“ Third question (Total mark 14)

A. Give differences between Ascon, Sycon anMcon types of Spong. (4 marks)

B. Define these Terms:
Ecosystem — Metameric — Echinodermata — Arthropod - Mantle (10 marks)




Fourth question

Group (A)

(Total mark 36)

Complete the sentences from Group (A) with the suitable words from Group(B)

Group (B)

1- The ventral solid nerve cord

a- muscular diaphragm

2- Protochordata include

b- in birds

3- Ammocoetes isa

c- cold —blooded animal

4- In tetrapods the pharyngeal gill slits

d- placoid scales

5- The example of tunicates is

e- Is used in feeding mechanism

6- Mammals which lay eggs is called

f- Is not a character of chordates

7- The exoskeleton of chondrichthyes is

g- teeth

8- Amphibia is divided into

h- Warm — blooded animal.

9- The air { swim ) bladder is present in the

i- sharp horny teeth

10- The suctorial buccal funnel of petromyzon is

j- Give rise to the eustachian tube

lined by
11- The post-anal tail k- Ascidia
12- The elephant belong to subclass L- sharks

13- Fertilization is internal in the

m- Anura, Urodela and Apoda

14- The air sacs connected with the lungs lead to n- tilapia sp.
highly efficient respiratory system
15- Crocodile is a o- eutheria

16- Mammals is the only class that has

p- prototheria ( monotremes )

17- Modern birds has no

g- is reduced to the coccyx in humans.

18- Kangaroo is a

r- Urochordata and Cephalochordata

S- Larva of petromyzon

Best wishes........

Examiners:
1. Prof. Dalia Afify.

2. Dr. Ahmad El-Bossery.
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Answer the fowling questions:

First question:
1-  True or false:
a) The absorption coefficient depends on the type of the absorbing medium and the
energy of X-rays.
b) The unit of absorption coefficient is cm™.
¢) To image the body tissues one can use high energy X-rays.
d) The annihilation of positron will produce two photons each with 0.51MeV
energy.
e) Joule/ coulomb is the unit of electric potential.
f) volt/meter is the unit of the electric field intensity.
g) eV. S-1 is the unit of power.
h) The electric potential has always the direction of the electric field.
i) The capacitance of an electric capacitor depends only on the dimension of the
capacitor.
i) The resistance of the material depends on the dimensions of the material.

2-  What happens when a radioactive nucleus decays by Beta particles, give an
example.

Second question:

1- Compare between:
A) Isotopes, Isotones and Isomers.
B) Alpha, Beta and Gamma.
C) Biological and physical half-life time.
D) Charging and discharge capacitors.

2-  Prove that the relation between current density (J) and electric field (E)?
3-  Prove that Parallel plate capacitor depends on distance, area and medium.

Third question:

- Prove the decay equation and half life time of radioactive materials.
2-  Combare between Alpha, Beta and gamma.

Continue
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Complete: (write the missing part only)

a) Any atom COnsists OF .. cosss gess vos s v s 1 (3 D

b)If an atom is supplied with enough energy to remove an electron ,this
Proeass 18 TAIIBHL ... conosen st ions siv v i o B 8 W8 1 st 008 94

c) If the supplied energy to an atom is used by an electron to jump from

inner to outer shell , this process 1S
ealled. . cuassns somen aes wes somorsamas v g veeve swy e o
d)If an electron is removed from the most inner shell, an electron will fall
oM sasss oo s s we vom pesmpen 7 R The highest
probability that this electron will fall from ............................ to
e) Characteristic X-rays 1S produced due
00 s aseiminne somme Gania wxe onie Hri kel bellY B Bt 20 BT

f) Continuous X-rays is produced due to.....................

g) As an electron is decelerated through the nuclear field it will lose part of
its energy as X-ray photon this X-ray is called..............

h) In diagnostic X-ray tube the energy of the emitted X-rays depends mainly

i) The X-ray tube should be evacuated from air to prevent the interaction
bebween. ; s s

j) Bone has an absorption coefficient ......................... than that of
muscles for this reason the half thickness layer in case of bone is
........................... than that of muscles.

Forth question:

1-
an
3-

Compare between line spectrum and containouse spectrum.
What is the for steps of Attenuation Mechanism and Law?
What is the total internal reflection and critical angle?

Good Luck
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Answer the fowling questions:

First question: (True or false)

Mo 00 ~Q e Eh i L0 ha =

10.
ks
12.
13.
14.
15.
16.
1Z.
18.

19.
20.

The flow of K+ ions from inside the axon to outside is due to the electric field.

The permeability of the membrane controls the flow of K+ and Na+ ions.

The unit of the torque is the unit of work. |

Bone is considered as a rigid body.

The axon membrane acts as a capacitor.

As the axon is subjected to a weak stimulus a rapid influx of Na+ will occur.

In the absence of the electric field the net current through a conductor is zero.

The excited atom is not neutral.

At resting (V; = -90mV) the permeability of the membrane is very low for K+ ions
but higher for Na+ ions.

The space parameter A is the distance at which most of the current i is leaked
through the membrane.

As the Na+ moves against the electric field its potential energy will decrease.

By increase the temperature of semiconductors, the resistance will decrease.
Bending over without lifting a load puts a stress on the spine.

When you lift a weight and the forearm in a horizontal position, there will be an
exerted force on the joint greater than the weight.

Within the elastic limit the deformation is elastic and if the applied force is
removed the object will return to its original shape.

Keeping the back vertical, the centers of gravity of all the weights will pass
through the sacrum and the net torque is zero.

Equal forces are applied at the end of copper wires of the same length. If A;=2A,
then Y,:Y>=1:2. (A is the cross-sectional area and Y is Young's modulus).

Bending over to pick up a very small object produces a very large force on the
lumbosacral disk (fulcrum) which separates the last vertebra from the sacrum.

The unit of stress is a unit of pressure.

Nuclides have the same number of nucleons, but different proton number is called
isotones.

Second question:

1.

LF'S)

Iodine 131 is used in the treatment of thyroid disorders its half-life is 8.1 days. If a

patient ingests a small quantity 211 of and none is excreted from the body, what

fraction N / Ny remains after 8.1d, 16.2d and 60d?

. Compare among Alpha, Beta and Gamma.
. Find the relation between current density and electric field.

Continue

e



Third question:

1-

Complete: (write the missing part only)

a) The activity of radioactive materials equals to ..........

b) The acceleration of moving body is zero when - - - - - - :

c¢) Heat transfer with existence medium by means of ..........

d) The maximum force that can be applied without breaking the wire is called - - -.
e) Resistivity of any conductor depends upon .......

f) All stream lines have the same directions in case of - - - - - - - flow, but
different directions in case of - - - - - - ;
g) Nernst equation used when the equilibrium occurred between- - - - - and - - -

h) sphygmonometer is a device measure - --------
i) The relation between kelvin and Fahrenheit scaleis .............
i) An Electrocardiograph records electrical activity associated with ...........

In orthodonture, forces applied to the teeth lead to make forces
on the supporting bones. Gradually the bone tissue breaks
down and permits the tooth to rotate or translate. New bone
tissue grows in the space left behind. The forces must be small
to avoid damaging the root of the tooth. Find the forces F1 and
F2 on the tooth

Fourth question:

I- Discuss Stress-Strain curve with drawing.

2- What happens when a radioactive nucleus decays by Alpha particles, give an

example.

3- Prove the decay equation and half life time of radioactive materials.

Good Luck
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1- Choose the correct answer from between the brackets (Total

30Marks, 2 Marks each)

a. The female silk worm takes no food but live enough to lay.........eggs. (100 — 300
to 400 — 700).
b. The Mediterranean fruit-fly destroys plants by................. (Chewing leaves -

sucking plant sap - boring in the fruits)
c. Aestivation is a period of suspended activity of individual occurring during
(Seasonal high temperature - dry weather- all of the previous)
d. Effective temperature in which insect's development takes place is............ {10 to
35°C-50t0 60 °C-—5tol4 °C)
e. Diurnal Insects which are active during... (Daylight hours — night — winter)
f. (carbaryl - DDT - Nicotine) was the first insecticides based on hydrocarbons
g. ( Carbaryl — Parathion - Nicotine ) is 30 times more toxic than DDT.
h. Lead arsenate is.........ccooeveverennans in the environment.(persist-decompose)
i. Biological control of insects is the use of............ instead of chemical
insecticides. (Pheromones — natural enemies — hormones)
j. (Omnivorous — carnivorous — herbivorous) insects feed on both plants and animals
k. Blow fly is (beneficial-harmful- both of them) to man.
I. Dragon fly used for biological control of (mosquitoes- horse fly- termites).
m. Migration of insects is an example for relation between (insect with insect —
insect with man- insect with plant).
n. Sound is an example for (internal-external) stimulus.
0. Insects defend themselves by (stinging- escaping- both of them)

2- Fill in the blanks with the appropriate words (Total 20 Marks, 2 Mark

each):
a. Insect pests can destroy plants by............... mouthparts such
ASererieenennes , by mouthparts such as .......ce..... OF BY e,
such as..........

B, HIBernation is ..o ivecveeeenes s sneeressesvesessrnnenss

c. Insect adaptations to conserve moisture including.............. O —— Feviiaees

d. Juvenile hormone is..................., While ecdysone is.........cccceu....
e. DDT is internationally forbidden because.........cccc........

f. Symbiosis is a relationship between .......cccocevvreeeevennne. and ..o



a part.

g. Entomophobia is an example for a relationship between .................. and
.................... where
h. House fly transmit .......ccopues. graavaysa eiaiy s

i. Facultative parasite is ....occcrinneriririncis s s
j. Photo receptors found on ........cccoccvvmnnciiiincnicnnns
3- Indicate whether the following statements are true (T) or false (F) and

correct the false one (18marks, 2 each)
a. The mole-cricket is an example of sucking feeders. )
b. Young grasshoppers eat about their weight of food a day. ()

c. Insect scavengers devour the bodies of dead animals and plants. ()
d. About 80% of the flowering plants are pollinated by insects. ( )

e. LC 50 of an insecticide is the lethal concentration that cause death in 50% of
the treated insects. ()

f. Pheromones are used by insects for sexual attraction, aggregation,
dispersion, oviposition, and alarm. ()

g. Juvenile hormone helps insects to communicate among each other. ()

h. Young grasshoppers improve the physical properties of the soil and promote
its fertility. ( )

i. Saprophagous insects feed on animals. ()

4- Define the following terms (Total 12Marks, 2 Marks each)

a- Entomophagus insects
b- Parasitoid

c- Innudative release
d- Patental care

e- Biological control

f-  Population ‘

5- Write short notes on each of the following (Total 20Marks, 5 Marks
each)

a- Dioneae sp.

b- Qualities of a Successful Parasite in Biological Control Program
c- Difference between parasitism and predation

d- Social insects

EXAMINERS ASSISST.PROF.DR. IMAN EL-HUSSEINY
DR. HANAA ELBRENS SHAABAN




TANTA UNIVERSITY
FACULTY OF SCIENCE
DEPARTMENT OF ZOOLOGY

FINAL EXAM FOR 1°7 YEAR BIOLOGY STUDENTS

OURSE TITLE: INTRODUCTION TO ENTOMOLOGY 2 COURSE CODE : EN 1204

29 MAY 2018 TERM: SECOND I TOTAL ASSESSMENT MARKS:100 | TIME ALLOWED: 2 HOURS

1- Choose the correct answer from between the brackets (Total
30Marks, 2 Marks each)

a. The female silk worm takes no food but live enough to lay.........eggs. (100 - 300
to 400 — 700).
b. The Mediterranean fruit-fly destroys plants by................. {Chewing leaves -
sucking plant sap - boring in the fruits)
¢c. Aestivation is a period of suspended activity of individual occurring during
(Seasonal high temperature - dry weather- all of the previous)
d. Effective temperature in which insect's development takes place is............ (10 to
35°C-50to 60 °C--5t014 °C)
e. Diurnal Insects which are active during... {Daylight hours — night — winter)
f. (carbaryl - DDT - Nicotine) was the first insecticides based on hydrocarbons
g. ( Carbaryl — Parathion - Nicotine ) is 30 times more toxic than DDT.
h. Lead arsenate iS.......cccceervvereeruerns in the environment.{persist-decompose)
i. Biological control of insects is the use of............ instead of chemical
insecticides. (Pheromones — natural enemies — hormones)
j- (Omnivorous — carnivorous — herbivorous) insects feed on both plants and animals
k. Blow fly is (beneficial-harmful- both of them) to man,
I. Dragon fly used for biological control of (mosquitoes- horse fly- termites).
m. Migration of insects is an example for relation between (insect with insect —
insect with man- insect with plant).
n. Sound is an example for {internal-external) stimulus.
0. Insects defend themselves by (stinging- escaping- both of them)

2- Fill in the blanks with the appropriate words (Total 20 Marks, 2 Mark

each):
a. Insect pests can destroy plants by............mouthparts such
BSismvisrvissnsy, Mot mouthparts such as ... Or bYassvmmmss
such as..........
b. HIbernation is ......cuiercieiisnninnivmneieeenens
¢. Insect adaptations to conserve moisture including.............. R RN
d. Juvenile hormone is..........ce....., While ecdysone is.........coeuueee.
e. DDT is internationally forbidden because........c..........

f. Symbiosis is a relationship between ........ccccovecvveriennne =13, J—



a part.

g. Entomophobia is an example for a relationship between .................. and
.................... where
h. House fly transmit ................. e sttty

L Facultative parasite I8 i e s s

j. Photo receptors found on .
3- Indicate whether the follow ng statements are true (T) or false (F) and
correct the false one (18marks, 2 each)

a. The mole-cricket is an example of sucking feeders. ( )
b. Young grasshoppers eat about their weight of food a day. ()
c. Insect scavengers devour the bodies of dead animals and plants. ()

d. About 80% of the flowering plants are pollinated by insects. ()

e. LC 50 of an insecticide is the lethal concentration that cause death in 50% of
the treated insects. )

f. Pheromones are used by insects for sexual attraction, aggregation,
dispersion, oviposition, and alarm. ()

g. Juvenile hormone helps insects to communicate among each other. ()

h. Young grasshoppers improve the physical properties of the soil and promote
its fertility. ( )

i. Saprophagous insects feed on animals. ()

4- Define the following terms (Total 12Marks, 2 Marks each)

a- Entomophagus insects
b- Parasitoid

¢c- Innudative release

d- Patental care

e- Biological control
f- Population

5- Write short notes on each o of the following (Total 20Marks, 5 Marks
each

a- Dioneae sp.

b- Qualities of a Successful Parasite in Biological Control Program
c- Difference between parasitism and predation

d- Social insects

EXAMINERS ASSISST.PROF.DR. IMAN EL-HUSSEINY
DR. HANAA ELBRENS SHAABAN




TANTA UNIVERSITY
FACULTY OF SCIENCE
DEPARTMENT OF PHYSICS

SIS AP S T

EXAMINATION for (First Year) students of material science. (Examiner: Dr. Ayman El Tahan)

COURSE TITLE: Introduction to biophysics COURSE CODE: PH1226

29/05/2018 TERM: SECOND JTOTAL ASSESSMENT MARKS: 300 TIME ALLOWED: 2 HOURS

Answer the fowling questions:
First question: (True or false)

The flow of K+ ions from inside the axon to outside is due to the electric field.

The permeability of the membrane controls the flow of K+ and Na+ ions.

The unit of the torque is the unit of work.

Bone is considered as a rigid body.

The axon membrane acts as a capacitor.

As the axon is subjected to a weak stimulus a rapid influx of Na+ will occur.

In the absence of the electric field the net current through a conductor is zero.

The excited atom is not neutral.

At resting (V; = -90mV) the permeability of the membrane is very low for K+ ions

but higher for Na+ ions.

10.The space parameter A is the distance at which most of the current i, is leaked
through the membrane.

11.As the Na+ moves against the electric field its potential energy will decrease.

12.By increase the temperature of semiconductors, the resistance will decrease.

13.Bending over without lifting a load puts a stress on the spine.

14.When you lift a weight and the forearm in a horizontal position, there will be an
exerted force on the joint greater than the weight,

15.Within the elastic limit the deformation is elastic and if the applied force is
removed the object will return to its original shape.

16.Keeping the back vertical, the centers of gravity of all the weights will pass
through the sacrum and the net torque is zero.

17.Equal forces are applied at the end of copper wires of the same length. If A;=2A,;
then Y;:Y>=1:2. (A is the cross-sectional area and Y is Young's modulus).

18.Bending over to pick up a very small object produces a very large force on the
lumbosacral disk (fulcrum) which separates the last vertebra from the sacrum.

19.The unit of stress is a unit of pressure.

20.Nuclides have the same number of nucleons, but different proton number is called

isotones.

8 D6 =3 O LA AR LTS

Second question:

1. Todine 131 is used in the treatment of thyroid disorders its half-life is 8.1 days. If a

- patient ingests a small quantity *2I of and none is excreted from the body, what
fraction N / Ny remains after 8.1d, 16.2d and 60d?

2. Compare among Alpha, Beta and Gamma.

. Find the relation between current density and electric field.

I

Continue

- —




Third question:

1-

Complete: (write the missing part only)

a) The activity of radioactive materials equalsto ..........

b) The acceleration of moving body is zero when - - - - - - .

¢) Heat transfer with existence medium by meansof ..........

d) The maximum force that can be applied without breaking the wire is called - - -.
e) Resistivity of any conductor depends upon .......

f) All stream lines have the same directions in case of - - - - - - - flow, but
different directions in case of - - - - - - ;
g) Nernst equation used when the equilibrium occurred between- - - - - and - - -

h) sphygmonometer is a device measure - - - - - - - - -
i) The relation between kelvin and Fahrenheit scaleis .............
i) An Electrocardiograph records electrical activity associated with ...........

In orthodonture, forces applied to the teeth lead to make forces
on the supporting bones. Gradually the bone tissue breaks
down and permits the tooth to rotate or translate. New bone
tissue grows in the space left behind. The forces must be small
to avoid damaging the root of the tooth. Find the forces F1 and
F2 on the tooth

Fourth question:

1- Discuss Stress-Strain curve with drawing.

2- What happens when a radioactive nucleus decays by Alpha particles, give an

example.

3- Prove the decay equation and half life time of radioactive materials.

Good Luck



TANTA UNIVERSITY
FACULTY OF SCIENCE

DEPARTMENT OF ZOOLOGY
FINAL EXAM FOR 157 YEAR BIOLOGY STUDENTS
INTRODUCTION TO ENTOMOLOGY 2 COURSE CODE : EN 1204

29 MAY 2018 TERM: SECOND } TOTAL ASSESSMENT MARKS:100 | TIME ALLOWED: 2 HOURS

1- Choose the correct answer from between the brackets (Total
30Marks, 2 Marks each) |

a. The female silk worm takes no food but live enough to lay......... eggs. (100-300
to 400 — 700).
b. The Mediterranean fruit-fly destroys plants by................. (Chewing leaves -

sucking plant sap - boring in the fruits)
¢. Aestivation is a period of suspended activity of individual occurring during
{Seasonal high temperature - dry weather- all of the previous)
d. Effective temperature in which insect's development takes place is............ (10to
35 °C - 50 to 60 °C- — 5 to14 °C)
e. Diurnal Insects which are active during... (Daylight hours — night — winter)
f. (carbaryl - DDT - Nicotine) was the first insecticides based on hydrocarbons
g. ( Carbaryl — Parathion - Nicotine ) is 30 times more toxic than DDT.
h. Lead arsenate is.........c..ccoereureenene. iN the environment.(persist-decompose)
i. Biological control of insects is the use of............ instead of chemical
insecticides. (Pheromones — natural enemies — hormones)
j- (Omnivorous — carnivorous — herbivorous} insects feed on both plants and animals
k. Blow fly is (beneficial-harmful- both of them) to man.
I. Dragon fly used for biological control of (mosquitoes- horse fly- termites).
m. Migration of insects is an example for relation between (insect with insect —
insect with man- insect with plant).
n. Sound is an example for (internal-external) stimulus.
0. Insects defend themselves by (stinging- escaping- both of them)

2- Fill in the blanks with the appropriate words (Total 20 Marks, 2 Mark

each):
a. Insect pests can destroy plants by............... mouthparts such
AS.eerreeirenrear, BY.ene...mouthparts such as ..o, (o1l 1V
such as..........

b. HIbernation i5 ..o ve e e v e e cvnns

c. Insect adaptations to conserve moisture including.............. SE— JRR—

d. Juvenile hormone is.....cccceeveennee. , While ecdysone is......cccceveenne.
e. DDT is internationally forbidden because.........cccoceeue.e.

f. Symbiosis is a relationship between .....cccocvvecveeveee and ..o




a part.

g. Entomophobia is an example for a relationship between .................. and
s WHEIE rismamsraesmsmmssmss s oo

h. House fly transmit ,,

i. Eacultative parasite i§ . .oumewcnmmonsmmmesn sasmmsmmarens

j. Photo receptors found on .....mncicenvnnnicinns
3- Indicate whether the following statements are true (T) or false (F) and
correct the false one (18marks, 2 each)

a. The mole-cricket is an example of sucking feeders. ( )
b. Young grasshoppers eat about their weight of food a day. ()
c. Insect scavengers devour the bodies of dead animals and plants. ()

d. About 80% of the flowering plants are pollinated by insects. ()

e. LC 50 of an insecticide is the lethal concentration that cause death in 50% of
the treated insects. ()

f. Pheromones are used by insects for sexual attraction, aggregation,
dispersion, oviposition, and alarm. ( )

g. Juvenile hormone helps insects to communicate among each other. ()

h. Young grasshoppers improve the physical properties of the soil and promote
its fertility. ( )

i. Saprophagous insects feed on animals. ( )

4- Define the following terms (Total 12Marks, 2 Marks each)

a- Entomophagus insects
b- Parasitoid

¢- Innudative release

" d- Patental care

e- Biological control
Population

5- Write short notes on each of the following (Total 20Marks, 5 Marks
each)

a- Dioneae sp.

b- Qualities of a Successful Parasite in Biological Control Program

c- Difference between parasitism and predation

e

d- Social insects

EXAMINERS ASSISST.PROF.DR. IMAN EL-HUSSEINY
DR. HANAA ELBRENS SHAABAN




TANTA UNIVERSITY
FACULTY OF SCIENCE
DEPARTMENT OF GEOLOGY

EXAMINATION For The First Level of Geology Students

COURSE TITLE Earth Materials COURSE CODE: GE1202

10/6/ 2018 SEMESTER: TWO | TOTAL ASSESSMENT MARKS :100 TIME ALLOWED: 2 hrs.

Part I: Crystallography (35 marks)
Answer the following questions. Illustrate your answer,
whenever possible. [

1. What is meant BY: | (10 marks)
a. Special Form b. Hexaoctahedral Class
b. Solid angle d. Gypsum Type

2. Tike TRUE or FALSE of the following statements and CORRECT the
false one. (10 marks)

. Monoclinic system has three equal crystallographic axes.

b. Cubic system has the lowest rank of crystal symmetry.

c. Galena mineral is pertaining to Monoclinic system.

d. Some natural minerals crystallize, forming well-developed crystal
faces.

e. Interfacial angle angle and solid angle are the same at any crystal form.

3. Discriminate between the Holosymmetrical classes of Trigonal and

a

Triclinic Systems on the basis of: crystal elements, crystal symmetry
and law of symmetry. { (15 marks)

Part Two: Mineralogy
Write briefly on the following: (20 marks)

1.Chemical classification of minerals.
2-Color, Hardness, Tenacity and Specific Gravity of minerals.

Part three: Rocks
Write short notes on the following, Illustrate your answer with
drawing : (45 marks)

I. Classification of sedimentary rocks.

2. Bedding, graded-bedding and Ripple marks.

3. Classification of igneous rocks.

4. Concordant and discordalilt occurrence of igneous rocks.
5. Crystallization differentiation.

6. Types of metamorphism. |

7. Grade of metamorphism.’

Examiners: Prof. Ibrahim Sale:ﬁ Prof. Mohamed Th.S. Heikal
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TANTA UNIVERSITY
FACULTY OF SCIENCE
DEPARTMENT OF PHYSICS

EXAMINATION FOR FRESHMEN (FIRST YEAR) STUDENTS OF BIOLOGY

GENERAL PHYSICS 2, COURSE CODE:PH 1224

7/6/ 2018 ggggl\i[} TOTAL ASSESSMENT MARKS: 100 TIME ALLOWED: 2 HOURS

Answer the following questins:

First Question: (25Marks)
A-Define the following and write units: (15Marks)
The electric field- Charge density- Capacitance.

B-Find the equivalent capacitance of two capacitors connected in series. (10Marks)

Second question: (Z25Marks)

A-Draw the electric lines for an electric dipole and for a point charge (2q) with a
second point charge (-q). _ (10Marks)

B-Give reason:
The electric field lines, for a positive point charge, the lines radiate outward and for a
negative point charge, the lines converge inward. (10Marks)

C-Calculate the electric flux for carbon nucleus (z=6)
(e= 1.6x10"%c,£,=8.85x10"*c*/Nm?). (5Marks)

Third question :( 25Marks)

A-Explain the total internal reflection. (15Marks)

B- A laser source generates light has a wavelength 780 nm in air. Find the speed of
light once enters the plastic (n=1.55) and calculate the wavelength of light in the

plastic. (c=3x10® m/sec) (10Marks)
Fourth question :( 25Marks)
A-Define the following :The law of refraction-The index of refraction (10Marks)

B-Prove that the angle between the initial and final direction of the ray is twice the
angle between the two mirrors and explain the phenomenon of retroreflection.
(15Marks)

--- Best Wishes---
EXAMINER: PROF. DR. NEIMA. Z. DARWISH






TANTA UNIVERSITY
FACULTY OF SCIENCE
DEPARTMENT OF PHYSICS

EXAMINATION FOR FRESHMEN (FIRST YEAR) STUDENTS OF BIOLOGY

.

| JOURSE TITLE: GENERAL PHYSICS 2 COURSE CODE:PH 1224

TERM:
SECOND

‘ 7/6/ 2018 TOTAL ASSESSMENT MARKS: 100 TIME ALLOWED: 2 HOURS

Anser the following quesions:

First Question: (25Marks)
A-Define the following and write units: (15Marks)
The electric field- Charge density- Capacitance.

B-Find the equivalent capacitance of two capacitors connected in series. (10Marks)

Second question: (25Marks)

A-Draw the electric lines for an electric dipole and for a point charge (2q) with a
second point charge (-q). _ (10Marks)

B-Give reason:
The electric field lines, for a positive point charge, the lines radiate outward and for a
negative point charge, the lines converge inward. (10Marks)

C-Calculate the electric flux for carbon nucleus {z=6)
(e= 1.6x10™"%c,£,=8.85x10""2c*/Nm?). (5Marks)

Third question :( 25Marks)

A-Explain the total internal reflection. (15Marks)

B- A laser source generates light has a wavelength 780 nm in air. Find the speed of
light once enters the plastic (n=1.55) and calculate the wavelength of light in the

plastic. (c=3x10® m/sec) (10Marks)
Fourth guestion :( 25Marks)
A-Define the following :The law of refraction-The index of refraction (10Marks)

B-Prove that the angle between the initial and final direction of the ray is twice the
angle between the two mirrors and explain the phenomenon of retroreflection.
(15Marks)

--- Best Wishes---
EXAMINER: PROF. DR. NEIMA. Z. DARWISH






TANTA UNIVERSITY
FACULTY OF SCIENCE
PHYSICS DEPARTMENT

EXAMINATION FOR (FIRST YEAR)

COURSE
TITLE:

COMPUTER (FOR ALL DEPARTEMENTS) course cope: All

DATE :31

TOTAL ASSESSMENT i
MARKS: 50 TIME ALLOWED: 2 HOURS

M
Answer all the following questions:

Rewrite the following sentences and complete it:
(a)We can arrange the icons in an open window by ---------

M i o A T I T I e e 5

MAY 2018 TERM: FIRST

2

(¢c)There are different parameters that affecting the
performance of computer such as --------- R y =
(d) To insert a formula in a cell in Excel we start by ----

2-(a) Write briefly the components of computer
(b)Write four different methods to run any program
(c) Write the steps necessary to create a folder on desktop
(d) Write two different methods to make spelling checking

in Word Program

3- Compare between each of the following:
(a) Recycle Bin and Clipboard
(b) Find and Replace a text in Word Program
(¢) Word document and Template document
(d) Different types of Cell reference in Excel Program

4- (a)Write a methods to create a table in Word Program
(b)Write the steps to insert any numerical series in Excel
(¢)Write the steps to insert a chart in Excel Program
(d)Write any formula to calculate the slope of data

entered in range Al: B10 in Excel sheet

5- Define each of the following Excel statistical functions and
write a formula to calculate only one of them using Excel
for data in column A (from Al to A10)

(a)Average (b) MEDIAN (¢) MODE  (d) Max
ErExcminers Dr. Ahmed Abdel Azeem ,Dr. Kadry zakaria, Dr. Mahmoud Kamel J

- Best Wishes







TANTA UNIVERSITY
FACULTY OF SCIENCE
DEPARTMENT OF PHYSICS

EXAMINATION FOR FRESHMEN (FIRST YEAR) STUDENTS OF PHYSICAL SCIENCE SECTION
Jdo¥ (5 sieall Allal Lhaliig g £y 4S5 ¢ guin (yladal

|COURSE TITLE: Lpghal) o glal) A COURSE CODE:PH1222
DATE: | 27/5/2018 TERM: SECOND | TOTAL ASSESSMENT MARKS: 150 | TIME ALLOWED 2 HOURS
Answer The Following Questions
First question: ' (45 mark)

a) Derive the equation that gives the value of the equivalent focal length for two thin
lenses of power F'; and F, and separated by distance d meter.

b) Two thin lenses of power +5A and -5A were placed in air at distance of 10 cm apart
Jrom each other. Find the two surface focal lengths, the equivalent focal length
and the position of the two equivalent points.

¢) If a spherical wave is reflected at a spherical surface, prove that the ongmal
vergence plus the power of the surface is equal to the final vergence

Second question: (30 mark)

a) Discuss briefly Newton's principles and show how to use them to verify the law of
refraction and reflection of light.

b) Describe how can we measure the refractive mdex of a liquid by using Pulfnch
Refractometer?.

Third question: (45 mark)
@) Write the properties of electric charges. | '
b) Starting with Gauss’s law, Calculate the magnitude of the electric Jield due to an
isolated point charge q, and show that Coulomb’s law follows from this result.

¢) Define: Electric flux- electric potential- current density —resistor- conductivity
Fourth question: (30 mark)

@) Derive the capacitance of parallel plate capacitor.
b) A parallel-plate capacztor has an area A =2.00 x 10 m’ and a plate separation
d=1.00x 107 m. £,=885x10"2C* | Nm*
1-Find its capacitance. 2- How much charge is on the positive plate if the capacitor is
connected to a 3.00 V' Battery?

¢) Draw the electric field lines associated with the positive charge +2q and the neganve
charge —q

Best Wishes

EXAMINERS PROF.DR. G.A.GABALLAH DR. SHROUK F. ELASHRY







\ AT Tanta UNIVERSITY, Faculty of Science, Department of Botany
pde ] —
‘ | - I Final Examination for (First Year) Students of Biology
‘ r-——1 COURSE TITLE: COURSE e |
- General Botany (2) CODE:B01202 7
FDATE 27 MAY, 2018 TERM: TOTAL ]
FIRST ASSESSMENT e S |
) SEMESTER MARKS: 150 |

I — Plant Physiology (75 marks)

Answer the following questions.

1. Discuss how water movement by osmosis is driven by water potential and depends
on both the concentration and pressure components of the system. (25 marks)
[1lustrate how buffer solutions resist the change in pH in enzymatic reactions. (25
marks)

3. Explain the mechanism of light reaction in photosynthesis. (25 marks)

]

II — Plant Systematic (75 Marks)

Questions 1. Choose the correct answer: (15 marks)

A. Fimbriae are shorter and more numbers than flagella in bacteria. (True — False)

B. Diversity of vascular plants is higher than non vascular plants. (True — False)

C. Agar, which is usually extracted from fungi, is used in preparing culture media to grow
bacteria for laboratory research. (True — False)

Asexual reproduction is not observed in Spirogyra. (True — False)

Genus name always capitalized and species name always lowercase. (True — Falsc)

Mitosis and meiosis divisions occur in eukaryotes. (True — False)

Viruses can only be seen by light microscope. (True — False)

Pyrenoid is the site at that the polymerization of starch to form glucose takes place. (True —
False)

Gene therapy is an example of biotechnology applications. (True — False)

Human immunodeficiency virus is a DNA virus with a high mutation rate. (True-False)

oM =EY

St

Questions 2. (20 Marks)
A. Compare between hapléntic and diplontic life cycles among algae. (10 Marks)
B. Compare between living and non-living characteristics of viruses. (10 Marks)
Questions 3. (40 Marks)
With labeled drawings onlv, show each of the following:
A. Structure of Lichens. (10 Marks)

B. Life cycle of Puccinia graminis on soil only. (10 Marks)
C. Sexual reproduction of Chlamydomonas. (10 Marks)
D

. Cell wall of Gram-positive and Gram-negative bacteria. (10 Marks)

Examiners: Best wishes.......

| Dr. Nasser Sewelam | Dr. Mohamed El-Shetehy







TANTA UNIVERSITY
FACULTY OF SCIENCE
DEPARTMENT OF PHYSICS

EXAMINATION FOR FRESHMEN (FIRST YEAR) STUDENTS OF PHYSICAL SCIENCE SECTION
J¥ (o sinal) Allal dyghilitg g sl S g ¢ gua (laial

.t |COURSE TITLE: Laphl)  glall Az COURSE CODE:PH1222
DATE: | 27/5/2018 TERM: SECOND | TOTAL ASSESSMENT MARKS: 150 | TIME ALLOWED 2 HOURS
Answer The Following Questions

First question: (45 mark)

a) Derive the equation that gives the value of the equivalent focal length for two thin
lenses of power F') and F'; and separated by distance d meter.

b) Two thin lenses of power +5A and -5A were placed in air at distance of 10 cm apart
Jrom each other. Find the two surface focal lengths, the equivalent focal length
and the position of the two equivalent points.

c) If a spherical wave is reflected at a spherical surface, prove that the original
vergence plus the power of the surface is equal to the final vergence

Second question: (30 mark)

a) Discuss briefly Newton's principles and show how to use them to verify the law of
refraction and reflection of light.

b) Describe how can we measure the refractive index of a liquid by using Pulfrich
Refractometer?.

Third question: (45 mark)
a) Write the properties of electric charges
b) Starting with Gauss’s law, Calculate the magnitude of the electric field due to an
isolated point charge q, and show that Coulomb’s law follows from this result.

¢) Define: Electric flux- electric potential- current density —resistor-conductivity
Fourth question: (30 mark)

a) Derive the capacitance of parallel plate capacitor.
b) A parallel-plate capacitor has an area A =2.00 x 10* m’ and a plate separation
d=100x 10" m. £,=885x10"2C?/ Nm
1-Find its capacitance. 2- How much charge is on the positive plate if the capacitor is
connected to a 3.00 V' Battery?

c¢) Draw the electric field lines associated with the positive charge +2q and the negative
charge —q

Best Wishes

EXAMINERS PROF.DR. G.A.GABALLAH DR. SHROUK F. ELASHRY







TANTA UNIVERSITY
FACULTY OF SCIENCE
DEPARTMENT OF GEOLOGY

FINAL EXAMINATION FOR FIRST LEVEL GEOLOGY STUDENTS

1oes COURSE TITLE: INTRODUCTION TO GEOPHYSICS COURSE CODE: GE1204

|DATE: |JUNE, 2018 TERM: SECOND |TOTAL ASSESSMENT MARKS: 100 | TIME ALLOWED: 2 HOURS
Answer the following questions:
Part I (50 marks)
1. Discuss the types of geophysical exploration techniques. (10 marks)
2. Explain the following: (30 marks)

a) Elevation variations of gravitational acceleration.
b) Gravity measurements,
c) Magnetic field elements.

3. Define the following: (10 marks)

a) Ferromagnetism.
b) Magnetic induction.

Part II (50 marks)

4. Explain the following: (15 marks)

a) Importance of integrating geology and geophysics.
b) Active and passive geophysical methods.
¢) Natural and artificial seismology.

5. Discuss each of the following: (25 marks)
a) Land and marine seismic data acquisition and recording.
b) Elastic constants.
¢) Choosing the right geophysical method to solve a geological problem.

6. Read each of the following statements and mark either (V’) if correct or (X) if wrong: (10 marks)

a) Elasticity relates stress to strain. ( )
b) Epicenter of an earthquake is the underground point of origin. - ¢ )
¢} A non-rigid rock body movement is characterized by a displacement with no change in

shape or volume and is represented only by translation and/ or rotation. ( )
d) Deep refraction seismic survey is usually used for petroleum exploration. { )
e) Minerals usually have very high resistivities and are used as insulators. ( )
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